6.1
-273.15 °C 0 TC°C
7=7%1+273.15 (6.1.1)
T K (Kelvin)
P 14 PV 6.1.1
n R (8.3145 J/K/mol) -

(Boyle-Charles law)

PV =nRT (6.1.2)

T(K)
0 100 200 300 400

PV (arb. units)
-

-300 -200 -100 0 100 200
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6.2

(0.01

- (200 °C~350 °C)

(0 "C~1600 °C)
)
(-200 ‘C~500 °C)
2
, 273.16 K) 1
99.97
1
PV — nRT =0
fV,P,T)=0
1
@
U =@+ 5
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8]

6.9.3
(0 °C~1200 °C)
3
1

(6.2.1)

(6.2.2)

(6.2.3)



dw do

dU =dW +dO

6.3 2 —

2 (6.2.4) dQ
(Clausius, R.)

T
S
1
(
S = kgln W
S

(Boltzmann’s principle)

dU  dW +dQ
(6.2.4)
0 4.18605 J/cal
@ -V
(6.3.1)
) W
(6.3.2)

(Boltzmann, L.)
kg
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R

ky = =138054x 1072 J/K

A

(Avogadro’s number)

(6.3.1)

a_,
das

ds

G=U+PV-1S

(Gibbs’ free energy) PV

F=U-TS

H=U+PV

(6.3.3)

N, =6.022136x10% mol ™!

(6.3.4)

dQ

P, T)

(6.3.5)

(6.2.4) dw  -PdV

(6.3.1)
(6.3.6)
G
G
(6.3.7)

(Helmholtz’s free energy)

(6.3.8)
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PV
G
T+ 0K
U-TS
N
6.4 ?
1
|14
1 fr
(o
NV,
X, V, Z
t vxvyvzt3= Vi
V,
fo = V—];
1
N W

W = (fy )" o« (PV)Y

88

6.

TS

N

5

75

6.7

(6.3.5) (6.3.7)

6.4.1

fy

(6.4.1)

Vi Vi, V:

(6.4.2)

i

(6.4.3)

N



V, o T_2
3
W (T21)Y (6.4.4)

n

S=kglnW = nRIn(T*?V)+ (6.4.5)

vl

Wl

¥

o
/|
Q

6.4.1
t
- PV =nRT (PV)
S=%ann(PV5/3) (6.4.6)
14 53 6.8
4 (6.4.6) AS =0

&9



Py7= (6.4.7)

I/;(ocT_2

R R R R R R R R R R R R R R R R AR R R AR AR AR R R R R R AR AR R R R R R R R R R R AR R R R R R R R AR AR R AR A R R R R R R R R R AR R R R R

B R R R R R R R S S R R R R R R R R R R R R R R R R R R AR R R R R R S R R R R R R R R R R R R R R AR R R R R R R R R R R e T e

6.5.1 L
1 Apx,y,z = 2mvx,y,z
6.4 Vi
0)
1 At = 2L 1
vx,y,Z
X,y z F;c,y, z
P'Lz F dpx,y,z Apx,y,z mv)%,y,z (6 5 l)
SoeE A L o
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6.5.1

PV = NP'V = Nmv?>

X,V,Z

2
)C,y,Z)
1
—my
2
PV = Nk,T
1 1
=—my —kpT
2 2B
1

X,V,Z

91

(6.5.2)

(6.5.3)

(6.5.4)



U:%mv2 :%m(v£+v§+v§)=%kBT (6-5.6)
(6.5.5)
Ve =V, =V, = ksl (6.5.7)
m
3
VeV v, T2 (6.5.8)
W
3
W =(T2n)Y + (6.5.9)
2
2
6.5.2 3
Xy
@) (b) ©
6.5.3 3 3
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6.5.2 3
6.5.3 3
m
T
0] N
Erlemﬂ
2
I
w At
S = Nk In(wAt)
dO=dU=d=,
_dE,  Io®
ds kg
1., 1
—Iw” =—kpT
2 2B
I, I, L
1 1 1 1
E]xa))% :5]),605 :Elza)zz :EkBT
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3m-6

(6.5.10)

At

(6.5.11)

(6.5.12)

(6.5.13)

o @ o

(6.5.14)



KEEKKEAIXKARXKARXKAIAIAKAIAAAIAEIAAAIAAAAAAAAAIAAAAAAAAAIAAAIAAAITAAIAAAArArEhhhhhiihkiiikx

hk

p A=h/p (

B R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R S S R R R R R R R R R R R R R R R R R R R R R R R R R R R R S T

6.6

200
15
G
H,0 0-H-0
H,0
TS
3 G 6.6.1
G — —
G 6.6.2
(X)) G 6.6.1
2 G
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A T
0 >
6.6.1
AG =AU + PAV -TAS =0 (6.6.1)
AG, AU, AV AS G, U,V
AS AU
P=(—)T-F, PF=—— 6.6.2
(AV) 0 0=y ( )
- (Clausius-Clapeyron’s relationship)
(P.7) (6.2.4)  (6.3.1)
(6.6.2)
dP
AQ =T(—)AV 6.6.3
Q=1Cr) ( )
- - (dP/AT)AV > 0
1 79.7 cal/g, 539.8 cal/g
6.6.1 - -
1 2.6k; 13.14;
U

6.6.2 U, §
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6.7

r, 1)

-100 0 100 200 300 400 ( )
30 1 1 1 1 1
0.1
g?\ 20 0.05f -
<
o 0
10 |- .
0 1 1
100 200 300 400 500 600 700
T ()
6.6.2
6.6.1 1 U, PV S AQ
AU (J/mol)  PAV (J/mol)  AQ (J/mol)  AS (N4kp J/molK)
o ) 6.01x 10° -1.65x 10" 6.01x 10° 2.65
(100 ) 3.77x 10* 3.05x 10°  4.07x 10* 13.12
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Uv=%hv+th (6.7.1)
N M
(3.4.7)
n;
l’l1+l’l2+l’l3+"'+l’lN=M (6'7'2)
0 K
T M
M
1 M N
n; =0
6.7.1 N -1
1 2 3 4 5
OO
OO OO0 Q00 O
OO0 @ OO000Oe ® OO @ O
6.7.1
M M+ N -1
(M + N —1)! M!
(N -1)! M!(N -1)!
w
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:(M+N—1)!

W 6.7.3
M!(N -1)! ( )
1
(Bose statistics)
(Bose-Einstein statistics)
S=kzInW (Stirling’s formula)
InL! xL(nL-1), L>>1 (6.7.4)
N M
S =ky[(M+ N)In(M+ N)-MInM— NInN]| (6.7.5)
S M
as =0 _adu
T T
l:(ﬂj :L(asj _kp M+N (6.7.6)
r \2uU), hv\dM), hv M
N
M = I (6.7.7)
e*s” 1
T 1
U 1 1 1
N —+ I hvs(n3+5)hv (6.7.8)
e’ —1
1
ng=—"r (6.7.9)
e"s” —1
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(Bose distribution function) — T
kgT

hv

T#0K
(Planck, Max K. E. L.) v v+dv

8zhv>
)=y (6.7.10)
c
(Planck’s law of
radiation)
gzhv’ /cd 1
hv
(6.7.10)
o 87’ k,
v)dv = £r* 6.7.11
[, PV) 5o ( )
U -
(Stefan-Boltzmann law of radiation)
6.7.2 309.15 K(36 °C) 1000 K o(hv)
hv eV( )
5780 K 500 nm hv = 2.5 eV
p(hv)
6.7.3 36, 38, 40 °C o(hv)
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Radiation Intensity (arb. units)

0.2

0.1

309.15 K (36 C)

0 |
0 05 1
Photon Energy, hv (eV)
6.7.2 309.15K(36°C) 1000 K o(hV)
T T
0.006 .
o
c
=]
£
< 0.004 .
2
‘©
g
£
S
S 0.002 .
[¢]
o
0 | |
0 0.1 0.2 03
Photon Energy, hv (eV)
6.7.3 36,38 40 °C o(hV)

100



KEEKKEAIXKARXKARXKAIAIAKAIAAAIAEIAAAIAAAAAAAAAIAAAAAAAAAIAAAIAAAITAAIAAAArArEhhhhhiihkiiikx

(

6.1
6.7.3
0.1 °C

CCD CCD (Charge-
Coupled-Device) Si 1,100
nm

CCD

KEEKKEAIXKAXKAARXKAIARXAIAIAAAIAAAAAAAAAAAAIAAAAAAAAAIAAAIAAAIAAAITAAIArAAhAhhhhhiihkiiikx

ar
cdr c do U
PdV
c-U  pdV (6.8.1)
ar = dr
bl l
(6.5.6) U=(3/2)RT
c=3r+pdl (6.8.2)
2 dT
2
1
3
C, =R (6.8.3)
davidT = RIP (6.8.2)
2 R
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C,=C,+R
P
PdV (6.8.4)
relationship)
C,=7rC,
% (6.8.3) (6.8.4)
5/3
(6.8.2) (6.8.3) 1
2 3 2
5
2
3 m
3 3m-6
i
3m—6

i=1

1
Uy =N 4(ng +)hv

ng T 1

(Einstein’s specific heat)

(6.8.8) C:

102

(6.8.4)

(Meyer’s

(6.8.5)

(6.8.6)

(6.8.7)

(6.7.9)

(6.8.8)

6.8.1



U/hv
[EnY

0]

kgT/hv

6.8.1 1
kgT << hv
_hv
Cg z[h—vJ kTR << R
5T
ksT/hv - 0 (6.8.9) (A kzD)*
ksT/hv < 0.1
Cg
kgT >> hv
np
CE:R
1

103

(6.8.9)

exp(-hv/ kgT)

kBT hv

(6.8.10)



(1/2)ksT

CEzR
6.9
6.9.1 -
o
C,=3R
B/DR 2

T3
Cy =234R()

(Fermi statistics)

ksT
T3 -
3
5
kBT ha)o
hv ha,
1
3Ny
(6.9.1)
(6.8.3)
- (Dulong-Petit law)
(6.9.2)
e (Debye temperature)
T3 T3
(6.9.3)
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Tr

F Z%m"% =kpTr

o)

VF
(Z13)(T/Tr)
T
2
G _17z2°R 234&]“2
T Tr 63
cJT T 6.9.1
Tr O
3 T T )
-~~~
2
[y
5
o
g
g 1
(&)
0 ! L L
0 10 20 30
T2 (K%
6.9.1
6.9.2
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(6.9.4)

(6.9.5)

(3/2)R



k nla (5.9.2)
Ml _ o7i _ (6.9.6)

U

k = nla
B(x) = By {1 - 7072 (6.9.7)
(Morse potential)
X Xo X
15

Relative Potential Energy.
o
&)

central
position
| xc

@ — @O [1_6-(x/x0-1)] 2

(n3+1/2)h1/
O V 1 |
0 1 2 3
Relative Atomic Distance, x/x,
6.9.2 o (C )

ng (
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Xc



6.9.2
(6.9.7)
D(y) 2 3
=y- -y  +
@, y y
o) )
|X—XO|
a Xc
(6.9.8) (x - Xp)° (x)
6.9.2
X
2@,
D
T
1
U=(ng +E)hv
hv k= nla
(6.9.10)
v hv 1
=Xxq + +—
Xe =Xg 20, (ng 2)
yhv
49,
(6.9.11)

V(T)=Vo(1+ BoT)

Xc

V= X0
(x -x)y=y
X Xc X0
Dx) =@
1
o =U
6.9.3
ng T
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Ax)

y=20
(6.9.8)
2 x Xc
(6.9.9)
(6.9.10)
T
(6.9.9)
(6.9.11)
b
(6.9.12)



4103

3103 7
o
i
~ 2103 7

o

=
-
<

1103 7

0 Loooooo
0 100 200 300 400
Temperature (K)
6.9.3 (6.9.9)
6.9.3
A B 6.9.4
1 2
(Seebeck effect)
2 T 1 Tl > T2
6.9.4 1
1 2
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1 O 2 O,
AS; AS: 2
1 2
AS1+AS2 :&—%:O (6.9.13)
1 2
1
1
V12:Q1 |;|Q2 (6-9-14)
(6.9.13) >
Vy=1l20 (6.9.15)
|}
Vip =S4T - T3) (6.9.16)
S4n O 0.>0
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A B Sy Sp

SAB:SA_SB (6.9.17)
1 C 6.9.5
AC BC 0 °C
AB . 6.9.4
S4-Sp
A C
L it et lllc,
i Rl \‘xx Jf o ;—I
; J
_:" “"-_ \'hl I_.':
/ \ Y

6.9.5

O O (Peltier heat) 2

2 (6.9.16) V2
6.9.4
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T A B
2 (6.9.16)

T2=Tl—@ (6.9.18)

SAB

KEAAKEAAKAAAKAAAKAAAXAAAXAAAXAAAAIAAAAAAAAAAAAAAAAAAAAAAhhdhhdhhhhhkhihhiiiiiikh

B R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R S R R R R R R R R R R R R R R R R R R R R R R R R R R R S e

6.9.4 - ~ -

(Y
dt

>[y

q = kKg (6.9.19)
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T, T,
] T3
_ 5
6.9.6
q
2
au U ar
U=U,-b b=——=—-—=9C 6.9.20
0 X ax ﬂ[' dC g Y ( )
€y v
@ T
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€)
4) v

(2) 4.6.2

Vy Vx 78
1 h 1 vy 7gh
6.9.7 1

6.9.7

©))
4)

4.5
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q 5 ) 1, 1
— =< h>:<v> h:—V h:—vlh
N V. 18 L > g 3 g 3 &

2
K2 keyp gy
o 3 e

Y

L 3(:3)2==245x10‘8 wQ/deg’

e
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Nh

(6.9.21)

(6.9.22)

(6.9.3)

(6.9.23)

(6.9.24)

(6.9.25)

(6.9.26)

(6.9.27)

(6.9.28)

Igh
(6.9.19)
% TF



- (Wiedemann-Franz law)

(Lorentz number)

(6.9.27)

KEAAKAAAKAAAKAAAAAAXAAAXAAAAAAAAAAAAhhrAhhhhkhhhkhhhkdhhhhhkdrhkhihiihiihiiiiikx

19

(1627-1691)
(1746-1823)
(1785-1838)

(1785-1845)

(1791-1820)

(1799-1864)
(1814-1878)
(1818-1889)
(1821-1894)
(1822-1888)
(1824-1907)
(1826-1899)
(1835-1893)
(1839-1903)
(1844-1906)
(1853-1928)
(1858-1947)
(1879-1955)

(1884-1966)

(1894-1974)
(1901-1954)

19
18 20

B R R R R R R R R R R R R R R R R R R R R R S R R R S R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R S T e
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